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Time : Three hours

1. Answer the following questions in a word, a phrase or a sentence each :

(a)

(b)

(c)
(d)

(8)

(@)
(b)
(c)

(d)

1082-A01-ISC-R/0O-N-18

B.Com. DEGREE EXAMINATION NOVEMBER 2018.

First Semester G &u .n_n..ﬁ..n.,.w.u
ENGLISH £ Y fu
BASIC W oﬂucouu.
.n
(Revised — New/Old Syllabus) HJ %n
gmun “80 marks

Text : Life and Learning

(10 x 1 =10)
What did Buddha, Ashok, Jesus Christ and Gandhi believe in, according to
the author?
Until which station was the narrator alone on the train?
Who is the writer of the short story “The Eyes are not Here™?
Which country does the Kabuliwallah come from?

Mention the name of the school which was the most elitist institution for
Africans in Colonial Kenya.

Who is the speaker in the poem “Sonnet 13077

How is the sea described in the beginning of the poem “Dover Beach™
Who is the poet of “Mending Wall™?

What is the occupation of Pushpa’s father?

Whose wife was a good cock in the poem “Good Bye ......... T.S. Pushpa™

2. Explain with reference to the context any TWO of the following, choosing one
from Prose and one from Poetry : (2=5=10)

Can you tell me - did she keep her hair long or short?
Are you going to the father-in-law’s house?

[ grant I never saw a goddess go;
My mistress when she walks treads on the ground.

He is pine and I am apple Orchard
My apple trees will never get across.
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the relationship of Mini and Ealuilivallah affect other prtipile |y,
(re10= _:_

(ir

Aaw daes the title "Decolonising the Mind” becotae relsvant in the ety

wuss the idea that society gives undie irnportance too the worien’s

cxiemnzl apnearance. {1l # 1) = 10)
Or

Are emes of the poem “Dover fench® arnel hiow are they related

w3 the times in whickh the: poct liveds

Fill int the hlznls With appropriate articles ; (H71=8
(5 There shauld b

————— understanding Letween frien: H,
Mr. Patil is - : o . T N
TR PERNIS _ most popular physician of the 1own,

Fzjuis — —— great Unjon leader,

———more [ eat, the leas | get weighi,

M Twokewr . fai note from his bag,

in the Blanks with appropriate prepositions (57 1=5)

taenverflows __ tpe brielg

£17 Ny o I

ere fs o ceremony —_ the house,

[ found the window and sat it
What kind povernment is thigy

with the correct form of the verk given in the bracleets :

(10« 1= 10)

T (£0) to Delhi for higher st

—_(to bej the culprita,
Suma —(wake up) ar 6 Oeloelk everyday,
heyalways (listen) 1o mugicy
My mother _(drink) the water yesterday,
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the (10 lve) completed hor worlg,
ey e (Htindd) b the guene,
() Venterday they (tedl) the teathe b front of 17851

W The poet ha (exprenn) hin viewn in e poen,

Wentty and undertine the ervorn tn the following sentences

(10 # 1 = 10)

(&)

One ol my velative fwvery rieh,

(M They met e a hour apo,

() e and tde wadt Tor none,

() There fno trees finoue aren,

@ Whe prefers mblk than cotlee,

(0 What is the time in your wateh?

0 Her hade ave long,

() Ramu always sits besddes Raju,
() The bunch ol keya are loat,

() She s carrying hee lppnpen,

R (@) Give synonyma for the following words 5% 1=5)
M) Accept
(1) Beliet
() Deed
(iv) - Holy
(V) Wise
(h)  Give antonymas for tlw\i‘nlln\\'itm words (5% 1 =D5)

(1) Ancient
(1) Boon
(i) Eriend
(V) tmport

(V) Quick
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1098-A41-ISC-R-N-18

B.Com. DEGREE EXAMINATION NOVEMBER 2018,

First Semester
ECONOMICS
MANAGERIAL ECONOMICS -1
(Revised)

Time : Three hours Maximum : 80 marks
Section ‘A’ should be answered continuously.
Draw diagrams wherever necessary.

SECTION A — (10 x 2 = 20 marks)

1. Answer any TEN of the following :
2YNE i»Toe0R 38, Lu3020:
5. (a) Give the meaning of managerial economics.

iErETe ugFen s vgr Eakd.

: (b) State the basic problems of managerial economics.

(Erems egresns S0A0 ;m'%ﬂém'% 3¢<0.

g}

(c) Give the meaning of Decrease is Demand.
Wb 0D a7t od epE 53D,

s T e e e

(dj State the meaning of Demand.
§ weBdod ugs 2¢90.

_ () Whatis Supply?
§ 2% O]

(ff What do you mean by Decrease in Supply?
#0030 7t S0T30e3)?

(g Write the production function.
SUB TR BEIA0E LD,

(hj Define external economies of scale.
1%, D33,08) T3 23 IR
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(11 Give the meaning of opportunity cost.

Ao Jun e 300,
) Expand A.F.C.
A.F.C 55020.

(k)]  Find out Fixed Cost from below data -
Total Cost — Rs. 2,000

Variable Cost — Rs. 1,500

YA soaj,nidor3 Eie) :stuﬁoc?u &R :

uhi:éasww— on. 2,000

w@eRrs & - ©n. 1,500
(Il What is Marginal Cost?

BT Jed dordemH?

SECTION B - (3 x 5 = 15 marks)

Answer any THREE of the following :

FYNT odnI)monon :i:uadr% U320 :

Explain the nature and features of Managerial Economics,

VSFBE BEFZR, 3003 IR OZONYR) HTO20.

Discuss the determinants of demand.

Ueldod amrdﬁdvmd 3FA0.

Calculate price elasticity of demand from the following data :

BYNT 808 ©osnY Zmo0drbod 2ie’ WdeBoad ,‘ﬁoémozjﬁ:?’ddfd\l ch; 260 :

1000 units/ 8

P, =Rs2 Q,

500 units/ gpesvrie)

P,=Rs4 Q,

Write a note on the Law of Supply.
IpdEod abaE Soees e35ed wdadd.

1098-A41-1SC-R-N-18
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1098-A41-ISC-R-N-18

Explain the relationship between FC and VC with diagram.

50 ﬁz.:aw;i)'ég WBERRHS &suﬁq RIRBR ﬁoworj;:iai_)l Seard B33 B0l HZD20.

What is Cost of Production? Explain the implicit cost and explicit cost with an
example.

ST aﬁaiﬁaoz:jdem? SMaRT ol 1oV Volelaly] 35 ;Sz.iwdf’oo_a 33 ﬁzﬁuzia’a.ztbziﬂ?ab.

SECTION C - (3 x 15 = 45 marks)

Answer any THREE of the following, Q. No. 13 is Compulsory :
St st Revbnmitarie o) SaRTT, sUZB2G, ﬁ_;édﬁoa% 13 6!33(30&333?\:3 3

Discuss the role and responsibilities of a Managerial Economist.

VSFBE CPFIIHT DT, D03 wSewdrYR), WD

Explain the various methods of measuring price elasticity of demand.

= © & <

236 3eBE oD 23 TTS I, ©90iNT AP Ea’m’oéri%"ﬂii ASD0A0.

Examine the law of variable proportions.

wEeRnS 03 end c‘\)o.‘p::‘;:nzjfdaﬂL =0eg20.

What is elasticity of supply? Explain different types of elasticity of supply.

@

ZPTEOD LEMBTE, 20007 BPTUB ?ooémﬁﬁ’éad QG BTI0NIRY, HSOD.

State the meaning of FC, VC, AC and MC and calculate FC, VC, AC and MC from
the following data :

50 23, woerrhs 3, 3R Sy, %) wouss I@MY eFr Bedd I FUNT Yod-woBRYT
FC, VC, AC 3x3) MCrida, &5, S»&0

Output (in units) : 0 1 2 3 4
V3R (Fesrive) : |

[4]]

Total cost (in Rs.) : 130 150 190 220 260 320
Wt 31 (Cp. ndI) :
e 2d
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carefully and answer the questions given below :

1 ZSE
% 3 o s it fadrtert V.00 33y BYhE &
:'j:.-“‘v -'-;-:';.-s-/;'.-s...’u, TIFLRCL0T WO DX e i %a: Jf’ 51?6"6

Szmsung maobile company registered the sale of mobiles during the last five years

zs under :

— S f 3 a8 =F S o 5 od L3y 590 2 & g¥hwodss
* Zan e 2omiioh 2 ofnid Sroeia) 390 0n) TArnY0 8 5YNmosl

-f‘gdh--l L ?—J’— d'—'
Years : 2013 2014 2015 2016 2017

s (i crores) : 140 160 170 160 190

Should the company expand its capacity?

TCET001) 25 oy =
a3l 'ﬂ.;‘fﬂhﬂq;. e O J 3;36—2;1607
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B.Com. DEGREE EXAMINATION NOVEMBER 201

First Semester

(Revised)

Time : Three hours

Paper 1.4 - PRINCIPLES OF MANAGEMEN

Maximum : 80 marks

Answer ALL questions subject to internal choice.

Question No. 13 is compulsory.

SECTION A - (10 x 2 = 20 marks)

1. Answer any TEN of the following :
YNNI, Wewor B3, 203020 :

(a)

(b)

(d)

(c)

(0

()

(h)

Define the term ‘Management’.

;?;dmaiascm 2.0, THRD,
@ 38

What do you mean by Unity of Command?
esriesndd H33 Hordesy?

What is Specific Planning?
28, odnews dordesy?

What is Management Process?
FSmBIob FBeod dorTeRH?

Give the definition of Decision-Making.
QEIF OVZOAT 0 39,83, WA,

Write the meaning of Centralisation of Authority.

geode33 ¥hT0 domdemy?

What is Formal Organisation?
BT5208 3038 20B8eRO?

State the meaning of Staffing.
.?meoﬁ FeBIF)BO 208307
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1101-A51-ISC-R-N-18

(i)  Write the definition of Co-ordination.
ﬁa'béa abr mﬁajts 08D,

)} State any four barriers to communication.
R0JTE 306e8 K0WTHIT 3OS T, t’atﬁa&ﬁﬁ@ﬁi& 3920.

(k) Name any two theories of Motivation.
va,fdﬁ&i) 0P WIETR HTED ?Jmaoa’ﬁ@dg{ 2020.

()  What is Budget?

WO BT 0WTeRI?

SECTION B - (3 x 5 = 15 marks)

Answer any THREE of the following :
FINTDHNIS ez ;a’amdﬁ& BUZ00 :

Differentiate between Administration and Management.

BREIZ ) ASEBH RINYIS eaoa’dmimﬂ (AlsleNble}

What is Lower Level Management? What are its functions?

LAV aﬂzsdmoaiaf Q0TTeROT? BEo F&)-:JdoFr\"%}abct 3920,

Describe the techniques of Decision-Making.

AeoF cRFOD 03 i) Fedead.

State and explain various basis of Departmentation.

PNCF0OT AP esmadrie}dzl 392, 00,

Define communication and state its characteristics.

A02FF Rored Fowdsob mﬁa% i.‘?_:ats.zd. lafe} @ﬁmﬁ%’?&g{ 3920.

What is Direction? Explain its various approaches (styles).

VBT a9.88 Wi, erg %@r‘i%"ﬁizt DO,

2

+
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SECTION C - (3 x 15 = 45 marks)

Answer any THREE questions including Question No. 13 is com

pulsory :
Ue5E Suech 3_,5;1 nen ev3ds,

8, 133¢ @3, samab :

8.  Bring out and explain various functions of Management.
%::Ssaoﬁaiab A sac:durrieiabﬂt 3020.
9. Define Planning, and explain its advantages.
[ odeexsadd T, Bk, BT ORTHOINYRY, 20,
I
|
' 10.

What is Organisation? Examine its principles.
A0 D0TTeRH? ©Eg 32U Sedr20.

& - —mwTE, ety

11. Discuss various types of communication.

RozEE Boted RowTE D AP Eg’,ﬁadﬁ%*ﬁigtbd&’o&

12. Define the term ‘Motivation’ and explain its steps.
Seosob 3,3, WD, BWOIT AP B0IYR) DS0D.

13. Case Study (Compulsory) :
500 50D (TEaad) :

ST, T T T R

A Company, with 4000 employees, is engaged in the production of smart phones.
Employees are not working happily and satisfactorily due to low morale. As a
Personnel Manager what steps do you take to improve the morale of the
[ employees?

{ MEFE FRE* Z0dRdTaD FoBIoDY, TN, AT AR FOR VSE&RWIY. &30 F 3w 4 s jodoF
IDUREIT G0 ¥IT FeS T BN RodRcRTTNCIFNY, AesI) 208 ASFBTH
4 5oD0dRN i 0dRES BROMYR), St Ee0rd W30 8,35 3 Qjobraif&gt DF0RIZeD?
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FIRST SEMESTER B.A./B.Sc./B.Com. /B.S.W. /B.CATBSC(CS) /B.Com.(C.S.) (New) AND
THIRD SEMESTER B.B.A./B.Com.(C.S.) (Old) DEGREE EXAMINATION. NOVEMBER 2018,

INDIAN CONSTITUTION

(Mandatory)
Time : 90 Minutes Maximum : 80 Marks
1. The constitution means
l (A)  Fundamental law of the land (B) Fundamental law of the government
! (C) Judiciary (D) Government
‘Hoaged dord
(A)  osE g Soneylng saol) (B) =5erdd Sapwies 590k
’“’ (C)  @,0dmon (D) =weFO
2. Which article of the constitution says about the amendment of the constitution?
(A) Art-352 (B) Art-368
(C) Art-257 (D) None of the above
nongaEt 30)dodrd), 3953 B adRHwd?
(A) 3528 2 (B) 368 2B
’ | (C) 257 o (D)  S0edR cdnHse ve)

3. Important feature of Federal system is
(A)  Separation of powers

(83)  Division of powers between centre and state governments

/ (C)  Centralization of powers
| (D) None of the above

74003308 &35,03) 32, Ogriord

(A)  eboadi d sl

(13)  deors, ©58) vaty N Socf, BHEIUE Horks
(C)  ebuatts beotyedde

(D) redu oingun ve)

g el

ALra i

s
—

P.T.O.

S
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4.  Which article of Indian Constitution says about the Fundamental duties?
(A) Art 14 (B) Art35
(C) Art51-A (D) Art 50

2203 2005988 0lRE Pt A3 TIFFNYRY IVRIT?

(A) 14de 20 (B) 358¢2D

(C) 51-A 29 (D) 508cad

5. The Constitution of India is

(A) flexible N (B) rigid

(C) very rigid _ _ (D) partly rigid and partly flexible
03T 20DTTI) :

(A) =oe (B) ©dm

(@) 33603 ioh! (D) erid: B mare werd: 30

6. The words ‘Socialist’ and ‘Secular’ in the preamble added by ;
(A) 42nd Amendment (B) 44th Amendment
(C) 22nd Amendment ; (D) 24th Amendment

“ABRERD” D) “wREE’ dow IBMAYR), FAMES FeSF 268300 AeSFAT RIaVEIe

(A) 423 3cozB (B) 443¢ 3c)zd

(C) 228 33)5B (D) 24de 3aaB’

7. Modern States are generally considered as

(A) Police State (B) Welfare State

(C) Dictatorial State (D) None of these

1A STIE] Uaz%rido m;&mﬁﬁaah ens.

(A)  peda oo (B) #mﬁea 3%y

(C) ﬁmr@ﬁadéaoazsd (D) S0 cinI)BH 8o
2

4__—.]
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Nivtional Congrenn oatablished in (he 0

. 111 ) YRR TR
AETRETRERR

AEON w0 Tt e
NV

lk &N (1) 1868
\ Ve

S I (1) 1909

Fhe Chiademan of the Conatituent Attembly
(N dawahacal Nelwa

() D IR, Ambedkar

(D) K.M, Munshi

OGNt A b sl
"F‘

(N} tiaadose droy

(Kl @ Dot onjedo* (D) .m0 30,

The Conatitution declares Indin an

(\) Pederal State (B)  Unitary State
(€) Undon of Staten (D) All the above
AONGINR) ‘r,‘n.ati\ws‘.di\il 20D Pracdrhst,

(A)  doadog vaty (B) w3y oo
() oargnie ekl (D) Soeds 2030

Which one of the tollowing is o feature of the Indian Constitution?
(A)  India s o Religions State

(1) Indin s a Secular State

() Indin v o Commumist State

(1) India is n Totalitarian Stade

o FeNE) ') paudn domaNe QB oge abad?
(A)  UER) tord wadead uau{ A

(1) greudd) tord sy ded v

() (AU Lo FRdE u.w,L

(D) aueR) o ¥Rar Pusb) vei

1013-AM-IC-N-18

(1) Dr, Babu Rajendra Prasad

(D) oo, waen vaKcon, Bxow

P.T.O.

Scanned by CamScanner



)4

e ;'_p-,i':-,i. {1epd4 _.1!.‘.--,... 411,' -;';I,_ ';.‘.A‘;,:._-- _/,J' 3 ..\"—:_;‘,I.-
U._,' Mo st =
() TN PITTITEr T ! )|

e e =
v Ay eyttt 7 ‘15.- il ovEly T,

i

Vil wsas 2,
(14 =

N

“
“, J .)J-;4;'_.:Z‘; )

=

Vhie » e et ,)f Sieidhe oo I?;‘_.‘_.i;-'___._:i T

28] Liprje-eye 4

_J

- e
i 3__’2_, =
- g
e gl T
o %

szl o

j e D) Zrelend
,‘r”, '!‘t"”‘//‘ j; .,.’/! :) L pamtims e
i o VR4 -
£ it ’/"‘4 T 7 8305 S
) il gir o7 i vl
A ‘2 PRt f W5 ser i 5 38) VT i it e s il
”] LD ,;‘ =) e/ e ¥

f -
) Br oy

\‘\
)

"‘_;/j,l_- 17 I_;'I 1}]- ) &
f‘!.' j ';,-_"’ s J ‘,‘;; 1257)

4 -
B5)  Soverigity

(1)

o i oo s it
L TR ST Sastise)

r"’fﬁ'ﬂf"{d}

U"J DI A,

19)  wodra1pvs 4
7

(¢ L) Bl %ﬂfy ey

d et g ¥ - ” ey P e
() ) '/‘J"A;;ﬂ y’;/ﬁé«/ PRI oD P o DI
o /-] = =

Wity st be ot Jait

i) oy sys et She specds
e AW __ b
UrJ ,I,-ff /J(J e _1_-_:5..’.

“,J '} ;,...'J P

¥ . Ligei % o i T, L ¢
‘?f;‘/ff{/ '795’:‘;': /‘:{ FIot s Sl RS 9550 1
-

-
%

i

B
v it

W

—
.

o
.\l‘
ey
S

L
O
LS4

)

b~

i

3-AMIC N,

A e A T p——— e J—
SEETES OF Jormret gnng Reshmere s

Scanned by CamScanner

1
i
|



Ty
o

1013-AM-IC-N-18

Lok v
(% Y
A R

W ARG \""\\“ DO

o 5
LIRS N ey PR T, Al o
\.\ft Lo \:\.\\\\\\\l\\\‘_\\-:: WY el OONRG I

! 5
-y \ b\\\‘,-‘:\t_ AAALE (e

J = e e e
AT e Qunstituton (B Thard part ¢i the Consttution
9
b DRI g ESIRA B Ay AW Plaasstdy Dart of the P
" “‘\ aisianen (] rourth Fari Gi ine Constwton

SR RS LR STt
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vl
a
§

-l
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\l_
<
-\. » \..‘ - b AN N\ ;\\\.\ N RIS S
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A Looa Govesment B) State Government
T B en AN MR ™ Dene sel=ty
O URREoRy onarsnnent (D) Stwate Legislature
H\‘ e oW ~ n
SRR IR\
¥ o o -~ »
A R T (B) Ot R5F0
< =
~ B ™) — - -
RN WIS D) T meson
P Wha b = . Yo O\ D
R Whe has power fo amend the Constitution?
e . . - ™ DN 3 b, |
) The Prasaeat (8) Stuate Legslature
O The Rardiament (D) Prime Minister and Cabinet

FECA SN \\k\xm y SRR ARORT

77,

TN I™ETON

R U
s

G S D) SwE a8 8 R OEE

1l

1N LI SRNTRORNED R SRR R

MG W amone the lloning s considerad o be the suardian of Fundamental Rights?

ol e
N Pt (B) Judwaan

% ) T P Ty
O ISRt (D} Prme Mimster
e 2LENLAR T RTEE Q0 R0y SORss=TT
e, 1 \\. - - = =y

. - ™ > NNTW 1
A R B RN

R ,, b - c -
N samen s D) SR
s R \k‘:cy_-_:\\ 5 - -

P.T.O.

h
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Pondamental Rights ave called as
A Justeable Rights (R Non-Justiciable Rights
(K1 Legal Nights ) Moral Rights
[dead my ) Q0 rdabead,
(A EETNSNY w.%u. \ ) W obuidden .,,.;.,._..w.,,_
8] .aga.z///.ﬁﬁy,ﬁwsx,c L AL EHATIEY
Right to Properiy was deleted from the list of lndamental vights by
(A 2-th Constitutional amendment
(Bl 30¢th Constitutional amendment
(€1 42nd Constitutional amendment
(D1 +th Constitutional amendment
F0Rled T Fdane syah ®ER) Sidhwsteniay
A 2 sodges AR
(Bl 308 todqen abxa
(€] 25 Sodger 3xEa
(D) 4+ Soages &Lma
From which natien Fundamental Rights are derived?
(A)  England (B Americ
(€]  lreland 0} France
Fewiad FRACRY e devod aaiotad oeiid?
A wode B)  oDdwn
i€l mdeow’ () W
Equality before law is guaranteed under article e s
200 I0 mEeAE dued 2Ty uﬁgagyﬁaa.
(Al 14 B) 18
€} 1o n 17

1013-AM-IC.N.
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i 1013-AM-IC-N-18
nch of the following is not o tandamental right?

A AUp P .

() Right ta Equalty (B)  Right to Freedom

(C) Constitutional renad;
wutional remedies (D) Right to Property

SQﬁQQ‘Jr{v‘Q‘ ARSI TATITA TR a"d‘i 89

(A) 3wpdab &) (B) w3o3 @ &H3)
(€] 2odpanage J0500 B8, (D)  eyab 33

Our Constitution grants to the citizens fundamental rights.

SR F000FF) wndsON _ Swponied 33)iYR), JeR.
(A) S (B) 6
€ 7 (D) 10

The Fundamental Rights of Indian citizens are explained in
(A) Artcle 14 to 35 (B) Article 14 to 36
(C) Article 12 to 35 (D) Article 10 to 35

72036 TrDEC FpoPLS BRNVEY DI0IT.
(A) 14 Dog 358 Prish (B) 14 Bod 360 2Bried

(C) 12 Bod 350 Qb (D) 10 Bog 350 aprieb

Which of the Article of the constitution abolishes Titles?
(A) Article 18 (B) Article 19
(C) Article 17 (D) Article 16

00mEd 04R3 APak AT, TRLVRIU?
(A) 188¢ 2D (B) 193¢

(C) 178¢ 2B ' (D) 168 2B
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30.

31.

1013-AM-IC-§.,
. ; ndament,
According to Article 226 who has power to issue the writs to protect the Fu HHal
Rights?
(A)  Supreme Court (B)  High Court

(€} Supreme Court and High Court (D)  District Court

2208¢ dab IFe0 Jworied B3N, Bfzen B YR avB5en 8050 aindit 2?7

(A) :e’.'.ﬁjacrt{}m;‘nm:mb (B) e, W adnech

(C) :.’;sﬁcrt{,:mg umsv w3 0dnoab (D) z&vammﬁoimoob

Which of the following Article of the Constitution abolishes untouchability?
(A)  Article 17 (B) Article 19

(C)  Article 21 (D) Article 16

o BYT0BIHNYA 00mORTE odng 2adw eﬁmsda‘ai)dg{ BRENRBIT?
(A)  178c 29 (B) 193¢ 2B
(C) 213c 28 (D)  168ec 2d

Part IV of Indian Constitution deals with

(A)  Citizenship (B) Funclam_ental Rights
(C)  Directive Principles of State Policy (D) Centre-State Relations

703 302G IVe 1riz) w9RR0BE,
(A)  woribess, (B)  Swoenies Ewivo

(C) DazgNes Mer gy sa;m,*o (D) z?eoc;—oa% aowogne

Directive Principles of State Policy are

(A) Justiciable (B) Moral Principles
(C) Non-Justiciable (D)  Legal Principles
0ot 0e8 duder gy 3@5;1%*3
(A)  @3,00083 (B) 35 33rieny
(€]  wyobogssen ' (D)  ZeRcwE 33riv

8
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tl\ g - )
he cone ept of Pundamental Duties are borrowed from

' Constitution.
(‘ ] c'\“Sll'ﬂl'lll {B] America
(€) USSR, (D) Ireland
ARVAI 83 r%n'gi gaﬁq\@wg& F0Ebos 205w Tdabenhd.
(A)  aedan (B) uocds
(€) Soedabet waay (D) otrow®
How many numbers of total Fundamental Duties?
INSATUTA VAR ﬁ‘:a‘ra“‘m' a’(mjﬂ .axg;?
(A) 8 (B) 9
() 10 (D) 11
To respect the ‘National flag’ and ‘National Anthem’is a
(A)  Directive principle of State Policy
(B) Fundamental Duty
(C)  Fundamental Right
(D) None of these
ooy B So) ‘o Ned’ ORI
(A) oot Qed AderTy :5‘:{a
(B) Swoored s3Fs
(C) Swerins Sﬁ%
(D)  wHnvd adnF)ce oo,
Fundamental Rights and Directive Principles of State Policy both are
(A) opposite to each other (B) complementary to each other
(C) superior to each other (D) above all
Qe BB Fone ooty ded e SSJM) Jozg
(A)  womdRomd DBRFINS (B) 008000 FPOTTNS
(C)  romdnemd eman (D) 0edR QOIP
9 P.T.O.
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38.

39.

Directive Principles of State Poliey lay the foundation for the

(Al Secular State \B)

0 Welfare State (IR

TS Qdered 33D

N

(A NRIE (B)

A r‘ia\m':\&
(9] a‘méea\m% D) Fpedes oy

Which Fundamental Duty is included in the Constitution of S6th amendment in 20022

()
(B)  Giving respect to the flag
(C)  Fight against Dowry

(D) None of the above

200239 303RaT 868 TR0 108 F6aFd IRFeRE RLORLT T3F, ARIJTO?
(4) 6 903 14 SRFTIVNS 32N ST $RAVYR WOV I3,

(B) Ua&fai;auﬁé U3 2REIJHD

(C) Soogsab atiacio'ammmm
(D) 0T iR v,

Directive Principles of State Policy is derived from

(A) America (B)
(C) Ireland (D)
SRRV WSergd I3riddy, adnd RE K0P

(A) ©Socdsve (B)
(C) odrow - (D)

1/3rd of the members of Rajya Sabha retire

Republic State
Police State

Q ITTRRAR,

[t 1s the duty of the parents to give education to the children upto the age of 6 to 1+

1013-AM-IC.y

Constituton.
England
Japan
Dod yadoBeseRiad?
oo’
[SSIET

(A) every year (B) every two years

(C) every threee years (D) none of these

1/3 o), oo, aEfodd ﬁd?{sdo ez A3 adnrbzd.

(A) IZ3I&F (B) I8 0B IR

(C) B3 RoRdh IaF (D)  HoedIIHridd adRFHdd v,
10
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In Central Government, total strength of Mindsters should not exceed ; pereent
of total strength of Lok Sabha,
geow, ﬁmrdd@\pb&mﬂ&:ﬁd :don;‘ adv eloed gefab tuhlajlin:lz‘uh e, oy Medaded,
(A)  15% () 20
C) 25% (D) 30%
|
’E 41.  According to which article the President pusses the ordinances?
- (A)  Art 123 (B)  Art 213
(C) Art312 (D) Art 122

R0DTRE adna PN vgoRmN o, FHO0 Koy eand [ie/a), 800888087
(A) 123¢ 2 (B) 2138¢ 2B

- (C) 3128c¢ 2B (D) 1228¢ o8

42. Who is called “first among the equals’™
(A) President (B) Vice-President
(C) Prime-Minister (D) Speaker

“ZZPANCS, ZABAM” 208> 04O, 3807

(A) oveEpE3 (B)  ev@-vodE3
(C) Tpes 3008 (D) =pez=d

43. Which article of the Constitution says “President is the Integral part” of the Parliament?
(A) Art78 (B) Art79
(C) Art8l (D) Art 82

oaE @3 0dn “7033T LAY or” HoEd F0ATRE ol Y PRIUT

(A) 788D (B) 79de 25
(C) 81Fead (D)  82we 2B
11 P.T.O.
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45.

46.

47.

48,

rae -ﬁ/
Who gives oath to the Chief Sustice of Buprens (s
g N (¥ £z ‘: i o
(A)  Prime-Minister () Fresiden
| i) o of s 2E e
[Cj Spcakr:r (i (e of t08 20070¢

- -, - ’
,,)&5{-0 Eraels 25 o334 {.- ?;;f.gj;.,fzr'j?;ﬁ (59D a;mr’az! Py -,aw";:'; ol
) 7 e it
(A)  Spaw =08, (£ oz
(C) #ymas (0] w»réa aizsigis o9,

-

Under which article President nominztes the
(A) Art 125
(C) Art155

Cerierns?

O3 0N SN G55, 7315 Tt 373, B 7 S A T

(A) 1258¢ 2D (B) 2002¢25
(C) 15582 (D) =#ds cizsifin e
Who is the first Lok Szbhz speaker of Independent Indiz?

(A)
(€)

G.V. Malvankar
K1

1. Munsi

,J;o# 020 ) d!;"’én?g:b Teed IS

(A)
(€

.0, SO0

bomPF 2t
How many representatives are elected to Lok S

; « R " % - - ad
BT e WIS LT T VBT AT T AL 7035, 27T

) i
n) 12 B 23
) 02 D) 32

What is the retirement age of the Judges of Supreme Court?

1280 LLH0RIET @3, GIBOeEs ac:.; ool ,,.w!

(A)
(C) 52

Czbhs from Yermzrzl=7
14 DNE ITON AaTnalzr=7

Scanned by CamScanner




49. President is electeq by

1013-AM-IC-N-18

Rajya Sabha

None of the above

o /Y
)

0088 AR Bo.

Real execunve

None of the above

ddz F0dnron

2008 alnF)als By

Vice President

(A) Lok Sabha (B)
(C) Electoral College (D)
C3WBID adwdod Wmodmimy?
(4)  <ees zu3 (B)
©) BWw3Im voge (D)
50. Indian President is
(A) Nominal executive B)
(C) Nominated (D)
WRUSE 03w FEcd
(4) 33, seaiwrort (B)
(C) ™3TBRRGEI D)
S1. Who is the ex-officio chairman of Rajya Sabha?
(A) Prime Minister (B)
(C) President (D)

O3ty Frdad F0-AY BEORIT AIRTIARS?

(4)  Spes =08 (B)
C) oemgach (D)
52. Who is the Chairman of NITI Aayog?

(A) President (B)

(C) Prime Minister (D)

N.LT.1. sadeens Beszoatsd QRTINCOTIT?

(A) c’amat%ﬁda (B)

€ Iws 003 (D)
13

Home-Minister

NI-T2

i o3

23

gkl

Vice-President

None of the above

m-mac_isgd)

Soedn cdnF)de sy

P.T.O.
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53.

54,

56.

1013-AM.1g,

Which article of the Constitution says about the joint sittiﬁg of the Parliament?
ROIT i Jadw FOR3® zotde [Zlam{:Toln] zar?1 SYRIZ?

(A) 108 ' | (B)
(C) 200 (D)

101
212

What the Speaker’s vote is called?
(A)  Extravote (B) Excess vote

(C)  Noble vote (D) Casting vote

TS ROV ;5336& 2VoR FTd0FY?

(A) st 23 (B)  up s

(€)= 303 (D) Qmorobe 3

Financial bills must be introduced in

(A) Lok Sabha (B) Rajya Sabha

(C) In both the houses (D) None of the above
BRTIAT AT ad BATen B9 SooBroBes.

(A)  Sncs 3y (B) ooz 7

(C) oCRe IBINYD (D) Boeds cdnF)Be v

is the saviour of Federal System of India.
(A) . President (B) Prime-Minister

(C) Judiciary (D) Executive

o03E B00dg IFFT FIF 0k $oUFFTRNITT.

(A) oo (B) Hgos 30§
(©) W%mm (D) soodmeon
14

|
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57. “Judici iew” j i
57. ial Review” is the special power of

(A) Parliament

(B)
(C)  Judiciary (D)
w3, adofeod Sody SDBewwd vRFUR)
(&)  Rozy (B)
€)=y aimort (D)

S8. “Collective Responsibility” is one of the important feature of

1013-AM-IC-N-18

Executive

None of .the above
O J8ea vhE0meNs.
gaadnron

S0edS aiRFEe 8o

system.
(A) Presidential " (B) Parliamentary
(C) Dictatorship (D) Military
I0N&T (EOTIADLS 3%:\3) .736:5:3301: ;fma)a; og N,
(A)  eggeod (B) =mozbead
(C) ==erBEa0s (D) Rs

59. If President wants to resign, to whom he submits his resignation letter?

(A) Prime Minister (B)
(C) Vice-President (D)

Speaker

Chief Justice of Supreme Court

ca@éﬂ Toiemosd) BTELcEodITT, 030N Taziemosdd 38, Adzes0?

(A)  Bres 00§ (B) xye=s

(C) eva caa'g-’a (D)  Roder Bocksts B m3,0dnfed
60. is regarded as 4th organ of the Government.

(A) Civil Service (B) Legislature

(C) Executive (D) Judiciary

Eil 2HFOB 4de aoddm‘iﬁ JOnedRenrHZd.

(A) werides Neds _ (B)
(C) wodwron (D)
15

Boawaon

mﬁuimori

P.T.0,
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61. “Gram Swaraj” is the concept of _
(&) Dr. B.R. Ambedkar (B) Jawaharlal Nehru
(C) Vinobha Bhave (D) Gandhiji
MR Boen’'S) 30 soSaiRnd.
(&) @o. D.esof, worlers (B) wme@denef $B0H
_ (C)  adneyr 8 (D) moBes
: 62. Who appoints the High Court Judges?
| (A)  Governor (B) President
(C) Vice-President (D) Chief Minister
8, Scts’e ©9;0050Be8TR), 03RTL Fexvs SnwBozY?
(A)  oemmed: (B) o3
(C)  evB-oexz3 (D) Rooa), 308,
63. Who appoints the Chief Minister of State?
(A) President (B) Governor
(C) Speaker (D)  Prime Minister

025 T B3, 80080008, 03RT BeWRTIT?

(A) vemp3 (B) oemamo
(C) =z (D) Smes 3003

64. The minimum age to become eligible for the post of Governor

oo @es B & F303RY, BP0BED T, I03ped

(A) 35 B) 25
(C) 40 (D) 50
16
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Ordinance can be 1013-AM-IC-N-18

promulgated in the State by
(&)  Legislative Assembly

(B)  Chiefl Minister
(C)  Governor

(D)  Law Minister

oa%d@mﬁo@emﬁwﬁdaiq{ BATADI VRTU)

} o

() ooy oo (D) oo siddy

66. In Karnataka the number of seats in Legislative Assembly and Legislative Council

(A) 220 and 50 (B) 242 and 57
(C) 224 and 75 (D) 75and 250

STRFLEE AR 3t R Ages FORIN AR, J03,
(A) 220 33 50 (B) 242 3y 57

(C) 224 2R 75 (D) 75 =3 250

67. Nauonal Integration Council was created in
Sor Tageod 2530 F00BY FTT RO,

(A) 1961 (B) 1975
(C) 1986 (D) 1996

68. The Executive powers of the State Government vested in
(A) Chief Minister (B) Cabinet

(C) Home Minister (D) Governor

ooy 359043 Taadnroncad) ¥RF0RW AFHW

(4) S, 0§ (B) w0
rﬁ (C) ni@ o (D) ooz
'h? 17 P.T.O.
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69. Ashok Mehta Committee related to the
(A) State Government

(B) Central Government
(€} Local Self Government

(D) Lokayukta

vd0cE F0F3 32030k0 R0209%3,

(A) 0% 50FT (B)  Beom, Rsard
Q) 3@@@&1) ﬁaocbo ARFY (D)  Snesvoing

70. 93rd Amendment relates to

(A)  Education

_ (B)  Panchayat Raj System
(C)  Appointment of Ministers

(D)  Parliament

93¢ ZoamaRg édjoﬁaoin Cki)a:j)tdﬁé' RowodaE?

(A) égea
(C)  Roodne Sexvz

(B) Bownadrst ooz

(D) =m0z
71. Who has power to Summon the Sessions of State Legislature?
(A) Speaker ' (B) Governor
(C)  Chief Minister (D)  Deputy Speaker
Oz, 03T Agod eaﬁeéﬁdm‘{ 38l 8BTS aidrt wr?
(A) Rezs (B) SRl l)
(C) oz, oy D)  ovx s

72. The members of a Municipality would be elected by
(A) direct election

(B) indirect election
(C) nominated by the Legislative Council
(D) nominated by the State Legislature

®nd meddod ﬁdfgdo Bodadnr)md
(A)  Sed o

(B) Bweeg womess

(C)  I5es B0RINB PeTT e

(D) ooty BosTRONROG WRBTE

18
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One person can be appointed Governor for

A ) >
(A) only one State (B) only for two States
(C) one, two or more States (D) It is Chief Minister to decide

2 S8 Do JeTTRREIR
(A)  word % T, I3, (B) 0RO oagyd, Sw

(C) o, SV g SR vazgnien (D) waE®) S0, 200 AFFODIS

74. Who has power to appoint Chairman of the State Public Service Commission?
(A) Chief Minister (B) Governor
(C) High Court Judge (D) Speaker

ooty Sacs Je waleens BE IO, Fe0F IR ¥50 0bedNT?

(A)  Sooa), 00§ (B) vezgmeo
(C)  ovr m,cinebT OEXRIAR el (D) =3
75. Balwanth Rai Mehta Committee recommended Panchayat Raj System.
(A) Two-Tier (B) Three-Tier
(C) Four-Tier (D) None of these

wOT030a01° FoE 33 8F0R0 IPBEY,
(A) OB 3038 (B) Rwedh 033

(C) o, %030 (D) DedBI)rdd adnFHrd vy

76. Who is the father of Local Self Government?
(A) Robert Clive (B) Warren Hastings

(C) Lord Rippon (D) Lord Mount Batten

39ead 30d0 35oF 00 230@ 0807

(A) Oowtsts g &F (B) o0 ®eyont
(C) enu's DI (D) enms 3500t W
19 P.T.O.
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80.

1013-AM-IC.y.

The tenure of the members of Legislative Council is

(A) 5 vyears (B) 4 years
(C) 6years - (D) 2 years
SIARI Ty '-,:‘dzidd LRI

(A) 5 S3eries (B) 4 3Arrieh

(C) 6 I3Fnien

(D) 2 3Aeneh '

Election Commission of India is

(A) Private body (B) State body

(C) Constitutional body (D) None of these

PU3E Bomdmd sadnens)
(A)  a3A R0% (B) oo ﬁoﬁ@

(€)  Rodmewesg 3o (D)  cinEe ve

is Chief Commander of Armed forces.
(A) President

(B)  Air Chief Marshal #
(C) "Prime Minister

(D)  Vice-President

=30 A Fdad 30FoeAGZT.
(A)  oom o (B)  =eodw Bdod oDz

() Bwes o, (D) vz vompy

Indian Constitution is in the world.

(A) biggest (B)
(C) smallest

oldest
(D)  none of the above

2030 20950 wrdsdode A,

(8)  crdmn (B) @Yobhwohs

(C) ZURAT

(D)  =rivd camycs ve,
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[First Semester
BUSINESS ENVIRONMENT
(Revised)

Time : Three hours

h Section.

Answer all questions with strict observation of inner choice in €ac

Question No. 13 is compulsory (Case Study).

SECTION A — (10 x 2 =20 marks)

1. Answer any TEN of the following :
2Sesar BT, GUIOR0

(a) Whatis Business Environment?

;:’;jzﬁa?d Z0z0S0@TeRO?

(b) Whatis National Income?
oa&£0d> 320303038 eRI?

(c) Expand M.R.I.P. and S.E.B.L
M.R.LP. 303 S.E.B.I. 2302 208000.

(d) Whatis capitalism?
20BTYT&HEC ;%S:u’a doEdemo?

(e) Who is bear speculator?
F0B 3639, 99,90 DOBS 0307

() Whatis legal environment?
RS F0RT onveso?

(g Whatis culture?
ﬁoﬁﬁa 20B8eRI?

N 7
= Y e e TV T Y Y T T Y e ——
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SECTION B - (3 x 5 = 15 marks)

=
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tors affecting
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SECTION C - (3 x 15 = 45 marks)

answer any THREE of the following, Q. No. 13 is Compulsory (Case Study)

3508 So0E, 003020, B8 50 13 gmeabmend (JF0R e, 0DT) |

nment factors affecting business.

Explain the micro-macro enviro:

RRg, B3 IO 20303 ©o3nd), aﬂﬁ;imda’ oees DedoI
Who are the major players in the business environment? Explain.

::S?S;ic‘éad EferfelalJINESONSEY majtp?ﬁﬁeﬁo adpto? DR300

What is globalisation? Explain its merits and demerits.
2ari3ea0 e H0BTERI? QBT BRIBHIS FOB emmﬁﬁwéﬁeﬁdgl&:ﬂ%a-
What are the components of po]itical and legal environment in business?

oazsdeody Fore SRHT SOICH ©08nYS), a=020.

What is Technology? Explain the economic effects of Technology-
[Tiatad ﬁamdorie}agadﬁha.

So:sjasa@d oomdeso? a’oa’jasawa‘d

Case-study Analysis

[f we consider the population as &
economic development of the country
consumers. It may affect the development O

you are required to answer the following :

(a) What are the causes for growth and populaition?

(Compulsory question)
resource rising population is beneficial for the
tion is considered as

. But the same popula
f the country. In the lights of this,

population?

(b) What are the impacts of rising
es you can suggest to check the population?

4

: (c) Whatare the remedial measur

: 380 o008 R | (TP 53)

maﬂﬁoagsabzdgt o) ROTBRL 203> IONeSRET FloSt ety w@R0ad; 000 Be3r DD eaz:);%aoﬁ

enyierads. s e zsafﬁoaizsai)ﬁ% MBTID S0y SOnedHES, ST empﬁ (ZIn%)
* @

ZP0FmNIZY. B AR 0DT, ZowoE0d B FYNT 33nen V3020

(a) wdR0 Sz sogenveR)R?

(b) DHTISTI asaiﬁoa%oi) FOmsoneRR)N)?

)  wson], dobogad, oinss FomRONYEY RAURI0?
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